8 7 | 6 | 5 %7 4 | 3 2 | 1
Hardware Required Parts List : .
q Dimensions
Receptacle Not Included 8-3/8"
=
516" x 1-1/4"
CARRIAGE BOLT i
5/16" KEP NUT
6 3/4"
1/2" Wrench Tape Measure —
TEM PartNo DESCRIPTION QTy.
1 01-05-0309 automatic dispir;scir hand sanitizer 1
Fry Cabinet Lock w/ Keys (REF# VLT-
SHETWASHER 2 01-08-01086 080813-LM1) 1
2 33-02-0025 | °/16" Zinc Platedgsll'lder Washer (1.5" | 5
e SHh 4 | 33-03-0012 5/16" Kep Nut (SS) 2
5 01-05-0311 automatic dispferr;srﬁr hand sanitizer 1
% 6 33-05-0030 5/16" x 1-1/4" Carriage Bolt (SS) 2
= 7 33-05-0072 Square Drive Deck Screw - #6 x 2" 2
12" Socket Wrench %xZ"\i]ECK SCREW 8 01-05-0312 sanitize hands here label 1
OCC Outdoors Products

WARRANTY: OCCOutdoors, Inc.provides a 5-year Limited Warranty on Thermoplastic coated site amenities. OCCOutdoors guarantees all items for one full year to be
free of defects in workmanship or materials when installed and maintained properly. Thermoplastic coating meets and exceeds AAMA 2604-05 (American Architectural
Manufacturers Association) test specifications. We agree to repair or replace any items determined to be defective. Items specifically not covered by this warranty include
vandalism, man-made or natural disasters, lack of maintenance, normal weathering, or wear and tear due to public abuse.

Items damaged or lost in transit are the responsibility of the carrier, whether visible or concealed. It is the responsibility of the recipient to assure that the order is received
complete. Before signing the delivery receipt, inspect the shipment immediately and completely. Note any damages or shortages on the bill of lading. Damage reports
must be filed within 5 days. OCCOutdoors is not responsible for damages or loss in transit. Title to all goods passes to the customer at the time of shipment.
OCCOutdoors will assist in filing claims if the freight arrangements were made by OCCOutdoors at your request.

This document contains OCC Outdoors Proprietary Information. No intellectual copyright or license is granted by OCC Outdoors in connection with it. It is delivered on
the express condition that the document and the information contained in it shall be treated as confidential, shall not be used for and purpose other than that for which it
is hereby delivered (the use and maintenance of the product supplied). It shall not be disclosed in whole or part to third parties and shall not be duplicated in any manner
without OCC Outdoors's prior approval.

PH: 1-800-821-7670
EMALIL - occcontact@occoutdoors.com
Fax: 1-317-862-9422

Part #: OCC-1006

Large Wall Mount or Add
On Sanitizer Holder

Page 1 of 2 Date: 6/10/2020

3 [ 7 [ 6 [ 5 l} 4 [ 3

2 [ 1




| i

9001-DD0 # Med
TTP6-798-L1€-1 X WOI'SIOOPINOII0M)IOLIU0III0 - TIVINT 0L9L-178-008-1 :Hd SINPoId SI00pInQO DDO
7 Jo 7 98eg

SOURLL BIRd 0j0S “upmuEy
A|UD SpLUeY oo UINED

Inbe souew
sns ajdajuisag

219H
spueH
azjjiues

papnjou] 3op Jaziaues

= —t
papnjau| Jop apeydasay

“1aa03 Juol) 0] |aqe| Aiddy -a1e|d yoeq o)
JaA00 Juoy paysele pue sjejd yoeq o} Jesuadsip Yyiepy “slempley
payiaads Buisn ||em Jo s|oejdadal 0] YIB(Q SINS0DUS YIERY

[a] _ &) Av m _ <




	OCC-940P-V6 Spec & Inst Inst
	Cut_Sheet_Page_1
	Cut_Sheet 2nd. Page

	OCC-940P-P6_Specifications
	OCC-940S-V6_1
	Cut_Sheet 2nd. Page




